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SECTION 1.6 Equivalent Equations
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1. Write two different expressions which are equivalent. Explain why they are equwalent
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2. Write two dlfferent equations which are equivalent. Explam why they are equivalent.
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Solve the following equation, explaining each step and naming the property you use:
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PROBLEM 1

Solve the following equations:

1 222+2)+3(x+2)=z—2 >7><+/é9=x"’£ G ==Z
L/yﬂrL[ +3x+f = x-2 - AT |
7x = X=-2-p =
7 HO *x 2 Ty s x-t2-x J © g
L L
2. @5)@):2x—3).
Ixtl5 ~x =(-3) =2« ~( 2 s =,
Zx t1g =2><"‘G /‘\ W/D{? Sa/v\‘/\'o'\ ge/ﬁ

2x+1§ -2 :,Zx'é -1x
3. —2(x—3)+4x=5z—17. 2
Dx+b tq% =5 -7 P 6T %7 >/3: : 4
e 7 [ Lt 7 =B ~T*7 )
Bl B, = 5 T 5 FTHK

EXPLORATION 2

1. Consider the equation 5(2z — 3) — 4z = 62 — 15.
a. Try to solve the equation. What happens?
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b. Substitute = 1 on both sides of the equation. What happens? Substitute = 0. Now

what happens? _ ":é( )-
6(0)-15 = 6(0)-I5
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c. Use the distributive property and combining like terms to show that 520 —3) — 4z is
equivalent to 62 — 15. What does this say about which values of  make the equation
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2. Consider the equation 3(z — 2) 4+ 2z = 52 + 4. 3I(x-2) +2x =5x +Y
a. Try to solve the equation. What happens? S ~b+2x =5 x+Y
We end up bk s =Y S —b *SxtY
whih s ”@VUM"/ fo Sx-615< 35« t4 ~5x
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b.  Use the distributive property and combining like terms to show that 3(z — 2)+2zis
equivalent to 5z — 6.

He2) $2x j A
= Tyl 2%

C. s there any value of  so that 5z — 6 is the same as 5z + 47 Explain. What does this
say about which values of x make the equation 3(x — 2) + 2z = 5z + 4 true?
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EXAMPLE 3

Suppose n is a number so that if you triple it and subtract 4 you obtain the same number as if
you decrease it by 3 and then double the result. What is 7,?

3n -1 =2(n-3) n-4+4 =z -(+9
Sn-Y “2n-( ?m=-2 /
3nY-2n 2 20-6-2a4
n-Y =
PROBLEM 2
Montserrat has two job offers to deliver fliers around the neighborhood. The first offers to pay

her $50 per week plus 10% cents per flier. The second will pay only $30 per week, but will give
20 cents per flier.

1. Set up an equation to find = the number fliers she must deliver so that the two offers pay
the same per week.

2. Solve for z. Which job would you take and why? > 20 _ 095«
At -l Mol .
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